2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ ML2PP_7_03_W_20051206.html for a detailed report).

2.1. General Info

¢ 2.1.1 Report summary
¢ 2.1.2 Summary per product

2.2 Processing performance indicators

e 2.2.1 Successful retrievals

e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value

Report version v1.11 26-05-2015

Time of report generation 20APR2016 17:28:41

Data source version ML2PP/7.03-W

Processing scope for products

06DEC2005 00:00:00 to 07DEC2005 00:00:00

Start time of first product within scope |06DEC2005 01:06:33

Stop time of last product within scope |06DEC2005 14:34:11

Total number of level 2 products 5

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

Product name

Start time

Stop time

Prod err

Number of scans (tot/proc)

Quality summary warnings

#

0|MIP_NL__2PWDSI20051206_010633_000056842043_00103_19696_1000.N1|06DEC2005 01:06:33 | 06DEC2005 02:41:18 |0 125/125 VMR_TERM_MACRO_MICRO[H20/micro:1; CH4/micro:1; HCN/micro:1]
1|MIP_NL__2PWDSI20051206_024124_000005202043_00104_19697_1000.N1|06DEC2005 02:41:24 |06DEC2005 02:50:04 0 12/12

2[MIP_NL__2PWDSI20051206_110827_000055232043_00109_19702_1000.N1 |06DEC2005 11:08:27 [06DEC2005 12:40:30 |0 122/122 VMR_TERM_MACRO_MICRO[HCN/micro:1]
3[MIP_NL__2PWDSI20051206_124538_000060312043_00110_19703_1000.N1 |06DEC2005 12:45:38 |06DEC2005 14:26:09 0 115/115

4|MIP_NL__2PWDSI20051206_142615_000004762043_00111_19704_1000.N1|06DEC2005 14:26:15|06DEC2005 14:34:11 |0 11/11

2.2 Processing performance indicators

2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %

PT 385 384 99.740
H20 385 384 99.740
03 385 384 99.740
HNO3 385 384 99.740
CH4 385 384 99.740




N20 385 384 99.740
NO2 385 384 99.740
F11 385 384 99.740
CLNO 385 384 99.740
N205 385 384 99.740
F12 385 383 99.481
COF2 385 384 99.740
CCL4 385 384 99.740
HCN 385 384 99.740
F14 385 384 99.740
F22 385 384 99.740

Mumber of succassful retrievals vs. geolocotion {#=day side , triangle=night side}.
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2.2.2 Pressure overview

This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview

LOS labitude [dcgr\:n:s_nc- r|'.h]
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2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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HNO3 winr [ppmv]
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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MNZ0 wmr [pprov] MZ0 wmr standard devigtion [ppmy]
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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2.2.4.7 F11 overview This section shows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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MZ05 wrr [ppmv] 205 vmr standard desviation [ppmy]
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Timz [atart of day]
CCL4 wrnr [pprewv] far pressure 190.0 hPa
1.0 : : :
b ............................. ............................ oo ............................

[
>

22
.

Caily averaga [ase title]

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg

BO to 90 deg

0.2
R+ ] H 0 H ! H
O 0,00 (010,010 000,00 000,00 G000, B Q0:00.00 (0% 061,
07 /09 /2005 22,708 /2005 o7 /10,2005 22,/10,/2005 08/ 11 /2005 21/11,/2005 06 /12 /2005

Tirn= [El’tu:lrt of dﬂ}"]




HCM wmr [pprav] for pressure 100.9 hPa

1.0 '
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tD E:I dEE
SRk : : : &0 to 90 deg
&

0.2

0.8

Oz 2, 2R 000,00 EHEREAN Y 000000 00, 00 0 D0 00 000,00
07 /09 /2005 22 /08 /2005 o7 /1073005 22,710,/ 2005 a6 /11 /2005 21711 /5008 06 /12 /2005

Timz [atart of day]
F14 vir [ppmv] far pressure 100.0 hPa
1.0 : : :
b ............................. ............................ oo ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2
R+ ] H 0 H ! H
O 0,00 (010,010 000,00 000,00 G000, B Q0:00.00 (0% 061,
07 /09 /2005 22,708 /2005 o7 /10,2005 22,/10,/2005 08/ 11 /2005 21/11,/2005 06 /12 /2005

Tirn= [El’tu:lrt of dﬂ}"]



F22 vmr [pprrv] for pressure 100.0 hPa

1.0 ;
T H—+—00 ta —80 deg
Ok [4——B0 ta —B5 deg
A —BS to —20 deg
m [3-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tn E:I dEE
SRk : : : &0 to 90 deg
a

0.2

0.8

Oz 2, 2R 000,00 EHEREAN Y 000000 00, 00 0 D0 00 000,00
07 /49 /5005 22 /06 /2005 07 /1073005 22 710/ 3005 08 /11 /2005 a1 /11 75008 08 /1% /3005

Timz [atart of day]
Temperature [K] for pressure 10.0 RPa
ZED : ; :
250 f

5

H—+—9C to —80 deg
[#—#—BC to —B5 deg

230 —BS to —20 deg
FE1-20 to 20 deg
20 to &5 deg
320 —65 to 30 deq
B0 to 90 deg

Gaily averaga [ase titla]

[
]
B P T EARCCEEEr T EERRPPRREE B =~ ERRCEPRE
k;
| "

N R R R o ............................ T RN .......................

180

D000, 00 02 00,00 Q00000 000000 000, 00 0= 00040 000,00
07 /09 /2005 20 /05 /2008 o7 02005 o2 A0,/ 2005 o0&/ 11 /2005 2111 5005 0 /& /2005

Timz [atart of day]



Tangant altitude [km] for pressure 10.0 hPa

33

T H—+—00 tn —B0 deg

T [ —B0 to —65 dag

B, —4—85 ta —20 deg

v [FHE1-20 ta 20 deg

o 20 to &5 deq

5 65 to 80 dag
30

= B0 to 90 deg

Z

28
Oz 2, 240 000,00 D=0, 00 000050 Q:00, 00 0z D0, O 0 00,00
007 /09 /5005 22 /0% /2005 o7 073005 22 710,/ 3005 08 /11 /2005 21 A1 /5005 06 /12 /2005
Time= [atart of day]
H2O wrnr [ppry] far pressure 19.0 hPa
o : : :
7.0

B.2
£} [——a0 tn 50 deg
E B0 tn —B5 deg
m 8.0 =G5 ta —20 deg
m [F-E1-20 ta 20 deg
= 20 to 65 dag
5 55 65 to A0 deg
= B0 to 90 deg
a

o
(=

4.0

00 30L G 040,00 D000, 00 a0 :00.50 Q500,00 D0z 30.00 ;00,00
07 /08 /5005 22 /58 /2005 7 /10005 22 /10,2005 0811 /2005 a1 /11 fanes 06 /1% /2005
Tirz [atart of dayv]



Caily average [zee title]

12

=]

o

Caily avaraga [Eee t'ltla]

03 vmr [ppmy] for pressure 1000 hPa

: y i e ! 4| 90 ta —E0 deg
o, B f bt S Dl Pt o TURRTH TG | Bew B0 ta —B5 deg

——0 to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

2

0050000 (¢: 00,00 O0:00,00 000000 (900,00 O0:00.00 000,00
07 08 F5005 20,708 /2005 07 F10,/2005 52,10,/ 2005 0&,/11 /2005 21 11 /5005 06 /12,2005

0,009

C.008

o.007

.008

005

D.004

o005

O.002

Time= [atart of day]

HMO3 wmr [ppry] for pressure 10.0 hPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

D000, 0€: 00,00 H0:00,00 000050 (500,00 O0:00.00 000,00
07 08 F 5005 24 /08 /2005 o7 A0,/3005 22 10,2005 08,/ 11 2005 21 11 /5005 06 /12 /2005

Tirz [atart of dayv]




CH4 wmr [ppmy] for pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
—e—fG to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

Caily averaga [==s title]

0.2

[N A A 04,00 D000, 00 a0 0000 Q000,00 Q000,00 Q00,00
07 /08 /5005 22 /58 /2605 07 /1072005 22 /10,2005 0811 /2005 a1 /11 /200 06/12 /2005
Time= [atart of day]

M2 vrnr [ppryv] far pressure 19.0 hPa
020 : ; :

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

Cally oiverage [see tltla]
[m}
o

0%

0.0

00 30L G 040,00 D000, 00 a0 :00.50 Q500,00 Q030,00 Q00,00
07 /08 /5005 22 /58 /2005 7 /107005 22 /10,2005 0811 /2005 a1 /11 /anes 06 /1% /2005
Tirz [atart of dayv]




Caily average [see title]

Caily average [zee title]

MNOZ wmr, sun elev==0 [ppmy] for pressure 10.0 hPa

Ot

G007

£.008
H——00 ta —E0 deg

.005 %80 to —B5 deg
F—00 to —20 deq

e [F-E1-20 ta 20 deg

20 to &5 deq

&5 to 80 deg

£.003 ED to 90 deg

02

.00

O, 008

Oz 2, 240 000,00 D=0, 00 000050 Q:00, 00 0z D0, O 0 00,00
007 /09 /5005 22 /0% /2005 o7 073005 22 710,/ 3005 08 /11 /2005 21 A1 /5005 06 /12 /2005
Time= [atart of day]
MOZ wmr, sun elev<=0 [ppmy] for pressure 10,0 RPa

o012 : : :

D018
H——00 to —E0 deg

£, 008 [+ —B0C to —B5 deg
=05 to =20 deg
[F-E1-20 ta 20 deg

20 to &5 deg

B4 to 30 deg

RS B0 to 00 deg

o004

o002

00z 2, 240 000,00 D=0, 00 000000 O8:00, 00 0 0L O 0 00,00
7 £ /5005 22 /0% /3005 o7 A073005 22 710,/ 3005 08 /11 /2005 21 A1 75005 06 /1% /2005

Tirz [atart of dayv]



Caily averaga [ase titla]

Daily averaga [ase titla]

00005

00004

0.0003

O, o002

00001

0, G00s

DO500,00
07 08 F5005

00012

00018

0.cons

0.C00E

0,004

0.0002

R

00500,
07 08 F 5005

F11 vmr [ppmy] far pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

Q000,00
a1 /11 /200
Time= [atart of day]

CLMO vmr [ppmy] faor pressure 10.0 RPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

H0:00,00 O0:00.00
o7 A0,/3005 21 11 /5005

Tirz [atart of dayv]




MZDE vmr [pprmy] for pressure 10.0 hPa

Tirz [atart of dayv]

00025
00020
& [——a0 to —50 deg
~ 0.0015 B0 ta —BS deg
B, —4—B5 ta —20 deg
o [F-E1-20 ta 20 deg
o
o 20 to &5 deq
& 65 to 80 dag
= 000 B0 to 90 deg
a
0,005
00000
Oz 2, 240 000,00 D000 000050 Qo:00, 00 0z S0 O 0 00,00
07 F08 FE00E 24 /08 /2005 o7 F0,/3005 52 A0,/ 2005 08,11 2005 a1 {4 /5005 06 /1% /2005
Time= [atart of day]
F12 vmr [ppmy] far pressure 10.0 hPa
e AE EEEEEEEHE‘EEEFEEEEEEEEBE | E
H mﬂi EE
DL [ B EE R PP b b B GO
x [——a0 tn 50 deg
e 4Swxip™ e —B0 tn —B5 deg
i =05 to =20 deg
2 % [3-E1—20 ta 20 deg
o . , S
= fia R 4 20 to &5 deg
M Syt / "
e Y TR SO R VO i T N i S S L ; B dey
R e F 5 S0 to 90 dag
x
5.0%107 A "‘"{s Vi /
ATREE.
o H
00z 2, 240 000,00 D=0, 00 000000 O8:00, 00 0 0L O 0 00,00
07 Fi8 /500G 22 /08 /2005 o7 F0,/5005 52 10,2005 06,/ 11 /2005 21 /14 /5005 06 /1% /2005




Caily avaraga [eee titla]

Caily overage [see title]

35«07

F0=1074

25x10~4

2.0x107t

1.6x107

1057074

COFZ wmr [pprv] for pressure 10.0 hPa

H—+—9C to —E0 deg
[#—+—BC to —B5 deg
e—0G to —20 deq
EE1—-20 to 20 deg
20 to &5 deg
—BS to 80 dag
B0 to 90 deg

LB v
Oz 2, 2R 000,00 EHEREAN Y 000000 00, 00 0 D0 00 000,00
07 /09 /2005 22 /08 /2005 o7 /1073005 22,710,/ 2005 a6 /11 /2005 21711 /5008 06 /12 /2005
Timz [atart of day]
CCL4 vmr [pprev] far pressure 19.0 hRa
2.0x107 : ; :
P4 1 o (R R AR e I CRUILTE SRR TR R RS A RITELRETRTRD | CLRCTRE SUTRCRTR LR R R i
e """""""""""""" """""""""""""" 5 H——00 ta —E0 deg
: : : : B —80 ta —65 deg
o : i -GS tg —20 deg
e N, M. - . SO . SO NN . ... - N - [5-E1-20 ta 20 deg
: ; : ; 20 to &5 deg
: : : —E5 to 80 deg
: : 5 80 to 90 dag
Blersrrmmmmee e e e T L hossoasessiossescssssinesead e R B R :
1L 3T gL) CEERR TR e RCU RIS CEPELER e
b - ; - ; - :
oz S, 20 00 00,00 D000 000000 O:00, 00 AL R 0 00,00
07 /08 /2005 23 /0% /2005 o7 /102005 22 /10,2005 a6/11 /2005 21711 /2008 0 12 /2005

Tirn= [El’tu:lrt of dﬂ}"]




HCH wrr [pprov] for pressure 10.0 hPa

1.8 ;
T H—+—00 ta B0 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ................................................................................................................. T T L _Eﬁ tn EG dEE
SRk ' ; : &0 to 90 deg
&

0.2

0.8

Oz 2, 2R 000,00 EHEREAN Y 000000 00, 00 0 D0 00 000,00
07 /09 /2005 22 /08 /2005 o7 /1073005 22,710,/ 2005 a6 /11 /2005 21711 /5008 06 /12 /2005

Timz [atart of day]
F14 vmr [ppmy] far pressure 10.0 hPa
1.0 T : r
B o ............................ o ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2

L : : : : : :

(TR A (0 0,00 PIN AN (000,00 (000, 00 000,00 000,00
07 /09 /2005 22 /0% /2005 o7 A0/2005 22 /10,2005 0811 /2005 21711 /2005 0§ ,/12,/2005

Tirn= [El’tu:lrt of dﬂ}"]



F22 vmr [ppmy] far pressure 10.0 hPa

1.H=1074

162107

1ax107
5 ” (90 ta —50 deg
T2l 80 to —B5 deg
2 4—B5 to —20 deg
AR [F-51-20 ta 20 deg
g 20 to 85 dag
: —E5 to 30 dag
= Box1o™ B0 to 90 deq
&

B.0:x10™

4.0x10F

20=1078

[N A A A 04,00 D000, 00 a0 00,00 Q000,00 Q00000 Q00,00
07 /03 /5005 22 /0B /2005 07 /10,2005 22 /10,2005 0&/11 /2005 21/711,/2008 06,712 /2005
Timz [atart of day]

Temperature [K] for pressure 1.0 hPa

J0G

290

280
T F——20 ta —E0 deg
R 80 to —B5 deg
A, 4—B5 to —20 deg
B [5-E1-20 ta 20 deg
=2 20 to &5 deg
& ——E5 to 30 dag
= 250 B0 to 00 deg
a

245

230

220

[N A A A 04,00 D000, 00 a0 00,00 Q000,00 Q00000 Q00,00
07709 /5005 22 /08 /2005 07 /10,2005 32 710,/ 2005 08711 /2005 21711 /3008 06,712 /2005

Timz [atart of day]



Tangent altitude [km] for pressure 1.0 hPa

a1

H—+—0C to —E0 deg

£
i %80 to —B5 deg
B, “—B5 ta —20 deg
o 47 [F-E-20 ta 20 deg
o 20 to &5 deq
5 65 to 80 dag
= ods B0 to 90 deg
&

45

4

43

Oz 2, 240 000,00 D=0, 00 000050 Q:00, 00 0z 0L O 0 00,00
07 F08 FE00E 24 /08 /2005 o7 F0,/3005 52 A0,/ 2005 08,11 2005 a1 {4 /5005 06 /1% /2005

Time= [atart of day]
HZC wimr [pprmy] far pressure 1.0 hPa
12 : : :

11

Caily avaragqa [Hee t'ltla]
) &

o

&

H—+—00C to —E0 deg
[+ —BC to —B5 deg
—e—03 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

00500, 0€: 00,00 H0:00,00 000050 (500,00 O0:00.00 000,00
07 08 F 5005 24 /08 /2005 o7 A0,/3005 22 10,2005 08,/ 11 2005 21 11 /5005 06 /12 /2005

Tirz [atart of dayv]



Daily averaga [ase titla]

03 wmr [ppmy] for pressure 1.0 hPa

4.5
A : ............................ ............................ :. ........................... L ..................................................
E‘ mf j\ }' h——o to —=0 deg
2 g e ; v i o - \j\.{ 5 v fi.| pe<—80 to -6 deg
L : , i 5 : : ' /[ 4 —B5 to -20 deg
= - i : E : ' ﬂf% [F-5-20 ta 20 deg
o
e : : 20 to 85 deq
5 { | 66 ta 80 deg
= e B0 to 90 deg
&
2.5
2.0
Oz 2, 240 000,00 D=0, 00 000050 Q:00, 00 0z D0, O 000,00
007 /09 /5005 22 /0% /2005 o7 073005 22 710,/ 3005 08 /11 /2005 21 A1 /5005 06 /12 /2005
Time= [atart of day]
HMOZ wmr [pprav] for pressure 1.0 hPa
08012 ; : :
0.0010
0.2008 H——90 ta —E0 deg
B0 ta —BS deg
=G5 to =20 deg
i [F-E1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deg
05004
0002
00000
00z 2, 240 000,00 D=0, 00 000000 O8:00, 00 0 0L O 0 00,00
7 £ /5005 22 /0% /3005 o7 A073005 22 710,/ 3005 08 /11 /2005 21 A1 75005 06 /1% /2005

Tirz [atart of dayv]



Caily average [zee title]

0.6

0.4

Caily averaga [==s title]
o
L4

=
fa

CH4 vmr [ppmy] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

0.8
Oz 2, 240 000,00 D=0, 00 000050 Q:00, 00 0z D0, O 0 00,00
007 /09 /5005 22 /0% /2005 o7 073005 22 710,/ 3005 08 /11 /2005 21 A1 /5005 06 /12 /2005
Time= [atart of day]
MEC vimr [ppryv] far pressure 1.0 hPa
D014 ; : :
0.012

0,010

=]
fu]
[=]
(]

@
fu]
[}
m

D.004

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

BOOZ | oo g D R g 3
T "--’"“'-‘*—:M "‘{"&4
£.000 =
DI1:60,00 00:00,00 000,00 ;600,60 0:010,00 050000 00 00,00
07 /03 /2005 23 /08 /2005 07 /10,/2005 52,710,/ 2005 08,11 /2005 21711 /2008 08 /12 /3005

Tirz [atart of dayv]




MOZ wrar, sun elev==0 [ppmy] for pressure 1.0 hPa

0. 0008
05007
0.0008
& [——a0 to —50 deg
T 0003 %80 to —B5 deg
B, ——85 ta —20 deg
n o e [F-E1-20 ta 20 deg
o 20 to &5 deq
& 65 to 80 dag
2 00003 B0 to 90 deg
a
0002
0.0001
00000
Oz 2, 240 000,00 D=0, 00 000050 Q:00, 00 0z D0, O 0 00,00
07 F08 FE00E 24 /08 /2005 o7 F0,/3005 52 A0,/ 2005 08,11 2005 a1 {4 /5005 06 /1% /2005
Time= [atart of day]
MOZ wmr, sun elev<Q [ppmy] for pressure 1.0 hPa
o.014 : ; :
0.012
o010
v [——a0 tn 50 deg
¥ B0 tn —B5 deg
# f.u0s =G5 ta —20 deg
w [3-E1—20 ta 20 deg
on
=2 20 to &5 deg
& 0.008 65 to A0 deg
= B0 to 90 deg
=
[ul]
£.004
G002
O, 008
00z 2, 240 000,00 D=0, 00 000000 O8:00, 00 0 0L O 000,00
07 Fi8 /500G 22 /08 /2005 o7 F0,/5005 52 10,2005 06,/ 11 /2005 21 /14 /5005 06 /1% /2005

Tirz [atart of dayv]




F11 wimr [ppmy] for pressure 1.0 hPo

1.0

o] TP ............................. ............................ oo ............................
= [——a0 to —50 deg
oo [ —B0 to —65 dag
B, —B5 to —20 deg
m [F-E1-20 ta 20 deg
o
L 20 to &5 deq
) eccsssesespsesespsesesreth pssspepspspsespsesaspsre S - S S 65 io 0 deg
Sk : : : E0 to 00 deg
&

0.2

0.0

O 1, 00 Qs a0,00 D000 000,00 800, 00 Q00000 Q00,00
007 /09 /5005 22 /0% /2005 o7 073005 22 710,/ 3005 08 /11 /2005 21 A1 /5005 06 /12 /2005

Time= [atart of day]
CLNO wmr [pprmy] for pressure 1.0 RPo

1.0 ; : ; :
% [——a0 tn 50 deg
] = —B0 to —65 dag
., —B5 to —20 deg
m [F-E1-2C to 20 deg
(=2}
= 20 to &5 deg
) eccsssesespsesesesesesreth rssspepspspsespsesespsee SR - S S 65 to 80 deg
ok : : : &0 to 90 deg
&

0.2

0.0

Oz 001, 00 800,00 LHA AN 000000 800, 00 Q00000 Q00,00
7 £ /5005 22 /0% /3005 o7 A073005 22 710,/ 3005 08 /11 /2005 21 A1 75005 06 /1% /2005

Tirz [atart of dayv]



Caily averaga [ase titla]

a.0012

00018

0.cong

0.C008

0,004

0.0002

MZOE wvmir [pprmv] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg

—85 1o —20 deg

EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

00000
Oz 2, 240 000,00 D=0, 00 000050 Q:00, 00 0z D0, O 0 00,00
007 /09 /5005 22 /0% /2005 o7 073005 22 710,/ 3005 08 /11 /2005 21 A1 /5005 06 /12 /2005
Time= [atart of day]
F12 vmr [ppmy] for pressure 1.0 hPa
1.0 T : .

(i
o

s
.

Caily averaga [ase title]

H——0C to —E0 deg
[+ —B0C to —B5 deg

-85 1o —20 deg

EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

0.2
0.0
D000, 0€: 00,00 H0:00,00 000050 (500,00 O0:00.00 000,00
07 08 F 5005 24 /08 /2005 o7 A0,/3005 22 10,2005 08,/ 11 2005 21 11 /5005 06 /12 /2005

Tirz [atart of dayv]




Caily averaga [ase titla]

0,004

0.0003

a.0002

0,000

R

COFZ wmr [pprv] for pressure 1.0 hPa

H—+—9C to —E0 deg
[#—+—BC to —B5 deg
F—B5 g —20 deg
EE1—-20 to 20 deg
20 to &5 deg
—BS to 80 dag
B0 to 90 deg

—0,3001

D0: 00,00 0050000 00:00,00 00:00.00 (000,00 O0:00,00) 00:00.00

07 /49 /5005 22 /06 /2005 07 /1073005 22 710/ 3005 08 /11 /2005 a1 /11 75008 08 /1% /3005
Timz [atart of day]
CCL4 wmr [pprrwv] for pressure 1.0 hPa

1.0 i : ;

OB T - -. .......................................................................................
I (o0 ta —B0 deg
o b3 B0 ta —BS deg
K B8 to —20 deg
m [F-E1-20 ta 20 deg
[=r]
= 20 to &5 deg
z 65 to 80 dag
= B B0 to 90 deq
&

0.2

L : : : : : :

oz S, 20 00 00,00 D000 000000 O:00, 00 AL R 0 00,00
o7 £09 /5005 22,705 /2005 o7 A10/2005 22,710,/ 2005 06/ 11 /2005 21 /11 /5005 08 /12 /2005

Tirn= [El’tu:lrt of dﬂ}"]



HCM wrar [ppmv] for pressure 1.0 hPa

1.8 ;
T H—+—00 ta B0 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ................................................................................................................. T T L _Eﬁ tn EG dEE
SRk ' ; : &0 to 90 deg
&

0.2

0.8

Oz 2, 2R 000,00 EHEREAN Y 000000 00, 00 0 D0 00 000,00
07 /09 /2005 22 /08 /2005 o7 /1073005 22,710,/ 2005 a6 /11 /2005 21711 /5008 06 /12 /2005

Timz [atart of day]
F14 vmr [ppmy] for preasure 1.0 hPa
1.0 T : r
B o ............................ o ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2

L : : : : : :

(TR A (0 0,00 PIN AN (000,00 (000, 00 000,00 000,00
07 /09 /2005 22 /0% /2005 o7 A0/2005 22 /10,2005 0811 /2005 21711 /2005 0§ ,/12,/2005

Tirn= [El’tu:lrt of dﬂ}"]



F22 vimr [ppmy] for pressure 1.0 hPg

1.8 ;
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [3-E1-20 ta 20 deg
£ 20 to 85 dag
E ................................................................................................................. T T L _EE tn E:I dEE
SRk ' ; : &0 to 90 deg
a

0.2

0.8

Oz 2, 2R 000,00 EHEREAN Y 000000 00, 00 0 D0 00 000,00
07 /09 /2005 22 /08 /2005 o7 /1073005 22,710,/ 2005 a6 /11 /2005 21711 /5008 06 /12 /2005

Timz [atart of day]



Mumber af successful retrievals vs. ganlecation {#=day side , triangle=night side}.
T . .

1600

15.00

14,00

13.00

1200

11.00

1008

.00

8,000

F.000

E. 00w

2,000

4,000

0008

2,000

1,000

O, 000

BN BN BN O B BN [




Rekrievad altituda [km]

Fressure [hPa]

Al

o

B0

GlEl

=100

—50 7
L3S lakitude [degreesz_narth]

ak

100

e 002

1D.'-'-_'.EIEI'L"

10

1 G

1.002 [

Rekrievad altituda [krn]

Frezssure standard deviation [hPa]

a2l

o

6o

ab-

=100

=50 0
LS latitude [degrees_narth]

ak

100

a
®
(p)
o

11000

1 D'D.EIEI'D

—1.003




Rekrievad altituda [km]

Termparatura [K]

Al

o

B0

GlEl

=100

—50 7
L3S lakitude [degreesz_narth]

ak

100

S00.0

2800

2808

2408

220,65

200,50

160.0

Rekrievad altituda [krn]

Temparature standard deviation [K]

a2l

o

6o

ab-

=100

=0

LOS

latitude [degrees_north]

ak

100

0. 9000

0.A00C

0,700

08000

L5000

04000

0, 3000

0, 2000

(W,

=

e




Rekrievad altituda [km]

HZ0 wrr [pproy]
|

Al

o

B0

GlEl

=100

—50 7
L3S lakitude [degreesz_narth]

ak

100

e 002

2.000F

o100

{ i 002

Rekrievad altituda [krn]

H20 vmr standard deviation [pprov]

a2l

o

6o

ab-

.

Y
.

=100

=0 il

LS latitude [degrees_narth]

ak

100

&R
(O
()]
Q

11000

L.o0o |




Rekrievad altituda [km]

o3 vt [pprmv]

Al

o

20

12

=100

—50 7
L3S lakitude [degreesz_narth]

ak

100

12.00

10.08

B oo

B.O0C

4,000

2,000

00

Rekrievad altituda [krn]

a2l

3o

20

18-

03 wmr standard deviatian [ppemv]
|

i

=100

=0 il

LS latitude [degrees_narth]

ak

100

0, 2000

0. 1600

01200

0.080005

004008

£, 000




Rekrievad altituda [km]

HMO3 winr [pprmy] HMNC3 winr standard deviation [pprov]
|

ao T T L0 a0d b2 1) T T T L0017 408
mr N er 0001200
0L 200
80 — Bo —
CO0I00S F
—
50 - - £ osol -
CUOdROAG T A -
4 0.0008000 F 1
40 - £ a0 -
VO E 00008000 F -
3N — ) E 30 —
o
x
0.0004000
ptl — 20 —
O, 000
1ok i ok J oongzoon
O l l l — G 004000 ] l l l O, 00
—100 —50 7 S 14010 —100 =50 0 = 1400

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

Al

o

20

12

CH4 wrar [pprmv]
|

=100

—a
LO5

7
latitude [degress_narth]

ak

100

Z.000

2.500

2.008

1.600

1,000

0.2000

00

Rekrievad altituda [krn]

CH4 wmr standard deviation [pprmy]

a2l

3o

20

18-

=100

=50 0
LS latitude [degrees_narth]

ak

100

0, 2000

0.1500

01000

LOS00G

£, 000



Rekrievad altituda [km]

NZ20 wrr [pprny] M20 vmr standard deviation [pprov]
|

q30 T T 0, 6000 i ) T T T CLas000
4 } 0.5000 e }
0.05000
80 - — 801 —
0.4000F
= 0.04000 F
50 - - =2, s0r -
0.3000F 4
40 ~ = a0 ~ 0.03000 | -
0.2000F - E
30 -] 'JE o -]
o L2003
0.1000
Ll o - 20 -
0.01 000
ok i 0,000 ol 4
O l l l =0, 1000 o l l l O, 000
=100 =5 | ] 100 =100 =50 0 ] 100

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

MNOZ wrr [pprny] MC2Z wmr standard deviation [pprov]
|

g0 T T 001408 i ) T T T 00008000
o - 0.7 200 Tor -
00003000
80 - o.a1000 80 -
'E' 00004008 F
50 - L0000 F A P -
m
T
-
40— — COdB00c - o % 40— — 00003008 F o
-
3
o - 004005 F 'JE 3o -
= 0L Q002000
20 - I 2000 Pt -
0.a001 000
10— — o0 10+ —
o l l l — 0002008 o l l l O 000
=100 —50 0 ] 100 =100 —o0 O ] 100

Sun el=vaticn angle [deg] Sun slevation angle [deg]



Rekrievad altituda [km]

F11 wrar [pprv] F11 wmr standard deviation [ppemy]
|

Ao I I Q00040005 A I I I g OC0E—0S
Tor - e -
5.000E—05
0. 0003000
80 - 80 -
= 4.000E—05| 1
50 - - = sob -
Q0002000 :'
E
40 ~ = a0 - 3.000E—05F A
2
Q0001000 F i
30 - E o -
o 2 QGIE—0E
20 - 20 -
4 n 0,008
1.000E-05
10 - 10 -
o | | | —0,0001 000 o | | | 000
=100 =30 ol o 100 =100 =20 { o 100

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

CLMNS wimr [ppmy] CLMOD wrr standard deviatian [pprnyv]
| |

Ao I I 0015005 A I I 00005000
Tor - e -
£.001000
0.0004000
80 - - 80 -
0.0005000 F A =
50 - - = sob -
:' 00003000 F
E
40 ~ 0.000 | - = a0 ~
2
o . |
ol | £ f | 00002000
. — Q5000 o
20 - 20 -
0.3001 005
—0.0071000
10 - 10 -
o | | | — 001503 o | | | 000
=100 =30 ol o 100 =100 =20 { o 100

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

M205 wrr [pprmy] M205 wmr standard devigtion [pprv]
| |

ao T T 002500 b2 1) T T QL a0 000
mr N 0002000 er | n.ooosoog
80 — Bo —
QO01503F A 0.a005000 F S
=
50 - - =, 501 -
0.001000F - L 0.0004000 F A
40 - £ a0 -
QOO05QOG F E L0000 F
o - T 30 -
o
x
£.000 0.0002000
ptl — 20 —
ol | —0.0005000 ol 1 o.o001000
O l l l — 001 A0 ] l l l O, 00
—100 —50 7 S 14010 —100 =50 0 = 1400

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

F12 wrar [pprmv] F12 vmr standard deviation [ppemy]
|

q30 T T Q000 e000 i ) T T T 0002000
e |  o.ooosooo e )
80 - — 801 - 0.0001500
00004000 F 1
E
50 - - =2, s0r -
00003000 F 1 4
40 ~ = a0 - 0.000100CF A
00002000 F 4 E
30 -] E 3o -]
1]
[n
0.0007 005
Ll o - 20 - EOMIE-QE
ok ] 1.3ssE-20 ol 4
O l l l =0, 0001000 o l l l O, 000
=100 =5 | ] 100 =100 =50 0 ] 100

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

COF2 wmr [ppemy] COF2 vimr standard deviation [pprv]
| |

Ao I I 0018005 A I I 00003000
Tor - e -
0.0002500
0001200
80 - 80 -
= 0.0002000F A
50 - - = sob -
Q0008000 F :'
E
40 ~ = a0 - 0.000180CF A
2
Q0004000 F 4 i
30 - JE o -
o 01,0007 Q0
20 - 20 -
0,000
E0CAE-0E
10 - 10 -
o | | | —0, 0004000 o | | | 000
=100 =30 ol o 100 =100 =20 { o 100

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

CCL4 wmr [ppriv] CCL4 vimr standard deviatich [ppmyv]
| |

ao T T 000 200 b2 1) T T 2 OCDE-D5
mr 1 noogtooo er N
80 - B0 -  1.500E-05
AOCOE-DEF A
=
50 - - =2, s0r -
8.0C0E—05 4
40 ~ = a0 -  1.000E—05F A
4,000E—05F A E
o - T 30 -
o
x
2.000E—05
ptl — 20 -  EOQIE-Q&
b — I -_-‘ | 0,000 ol |
O l l l —2.020E—-0% ] l l l O, 00
—100 —50 7 S 14010 —100 =50 0 = 1400

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

HCMN wmr [ppeny] HCM wimr standard deviation [pprev]
|

Al I I Ln002500 ai I I I 2000
o - Gt -
0002000
80 - i 80 - 150.0F 4
C.OT150CF - =
50 - - =, 8O- -
m
3
40 4 c.odtooof £ a0 - 1002 1
I
&
o - = 30 -
LS00 =
20 - 20 - S0.00
0,000
12 - 12 -
O | | | —0. 0005000 i | | | £,000
=100 —ai l al 100 —100 —ab o al 100

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Rekrievad altituda [km]

Al

o

20

12

F14 wvrar [pprv]
|

=100

—50 7
L3S lakitude [degreesz_narth]

ak

100

Lu0d 1200

007 000

0. 00deaod

00005000

0.a0a400:0C

00002000

o, QIR

—0.00020008

=0, 0004804

Rekrievad altituda [krn]

F14 vmr standard deviation [ppemy]

a2l

3o

20

18-

=100

=50 0
LS latitude [degrees_narth]

ak

100

L.0d1200

0.007 002

0.a0d8000

0.a0de00c

0,000

00002000

£, 000




Rekrievad altituda [km]

F22 wrar [pprmv] F22 vmr standard deviation [ppemy]
|

Ao I I Q00040005 A I I I Q000020005
Tor - e -
0. 0003000
B0 - B0 4 0.0001500F o
=
50 - - £ osol -
Q0002000 :'
E
40 _ ’ -' ' ~ _ ~ - = a0 ~ - 0.000100CF A
3 ' ' ' -‘I — E
- o o]
ol ~ | oo001000 2 | |
n
x
|
20 - 20 -1 ERCIE-Q%
0,000
10 - 10 -
o | | | —0,0001 000 o | | | 000
=100 =30 ol o 100 =100 =20 { o 100

L3S lakitude [degreesz_narth] LS latitude [degrees_narth]



Temnperature [K] for pressure 100.0 kPa
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K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 005, a0 Q0000 ;00,00
o7 /09 /2005 00 /06 /2005 o7 A10/2005 52 710,/ 2005 OB/11 /2005 a1 /11 /2008 06 /12 /2005

Timz [atart of day]



Temperature [K] for preasure 10.0 hPa

260

N

250

5

+—+—8C to —80 deg
=3 —B0 to —B5 deg

)
r
m 230 : —B5 to —20 deg
o i | EFE-20 ta 20 deg
c ; 20 to 85 deg
5 220 | —B5 ta 80 deg
= 5 - ; i &0 to 90 deg
Z s = s s

210 E : S : j *— m

D0 | -. ............................ : ............................ - ............................. : ....................................................

194 : : : ; : :

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
07 /0 /5005 D3OG 2005 o7 A 0/2005 52 10, B005 a6/11 /2005 21741 /2005 0 /12 /2005

Timz [atart of day]



Tangent altitude [kmn] for pressure 1000 hPa

33

0 (90 to —50 deg

E=

2 3 ¥ —80 tn —65 deg

o —B5 to —20 deg

o [F-E1-20 tn 20 deg

Fa 20 to 35 deq

z —— 65 to 0 deg
30

= &0 to 90 deq

z

29

28 - . - . - .
D500 (00,40 00,00 (000,50 (00, 0 0,1 A 00,0
07 /08 FE005 D2 e 2005 o7 A0,/ 2005 52 A8,/ 2005 a6/ 11 /2005 21 /11 Fa005 (6 A1 2 /2005

Timz [atart of day]



H2Z wrnr [pprev] for pressure 190.0 hPa

7.2

7.0

B.o
¥ H—+—00 to —E80 deg
- - —B0 to —65 deg
o 6.0 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
£ 5.5 —— 65 to 0 deg
= &0 to 90 deq
&

5.0

4.0 : : : i : :

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005

Timz [atart of day]




12

O3 winr [ppmy] for pressure 10.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

B
o
o —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z —— 65 to 0 deg
= &0 to 90 deq
a
a ' ' : ' : :

D0-o0.C0 000,00 D00, 00 000,00 Q000,00 QI000L 00 000,00

07 /09 /2005 27 /08 2005 07 1072005 32 /10,2005 08711 /2005 21711 ,/2008 06,712 /2005

Timz [atart of day]




Caily overage [see title]

HMO3 wmr [pprry] for pressure 1000 KPa
003 : : :

o008

0,007

+—+—8C to —80 deg
=3 —B0 to —B5 deg

0.008 —B5 to —20 deg
[E1—Z0 to 20 deg
' . ' : ' : 20 to 35 deq
'3'.':":'5‘; ............................ .E ........................... i ............................ i ............................ ;. ......................... : —EﬂtDE':ldEg
; : ; : : : &0 to 90 deg
o004
OO0 [ -. ...................... :
O,002 : : H : :
D0-o0.C0 000,00 000,00 Q000,00 QI000L 00 000,00
'EI?I.-"'I:I'HJ.-FEI:I'DE Eﬂfﬂlﬁ'f?ﬂ'ﬂﬁ E'?,-"IU:'J.-IEI:II:IE EEJ.-'rTDJ.-'rEI:I'E"E I:IE-J.-'“I 1;‘?‘305 21f1 1;’3:"35 I:I'EJ.-'“I E,-"'E'E'I:IE

Timz [atart of day]




CH4 wnr [ppmy] for pressure 10.0 hPa

1.6

1.4

1.2
= (90 to —50 deg
- - —B0 to —65 deg
m 1.0 —B5 to —20 deg
m [F-£1—20 ta 20 deg
2 20 to 35 deq
= 0.8 —— 65 to 0 deg
= &0 to 90 deq
a

0.6

0.4

.2 : ; : : : :

D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005

Timz [atart of day]




MNZ2 wrnr [pprev] for pressure 190.0 hPa

0,250

013

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

Cally cwverage [see titla]
a
o

005

[0 - - . - .

D500 (00,40 (000,50 (00, 0 0,1 A 00,0
07 /08 FE005 D2 e 2005 o7 A0,/ 2005 52 A8,/ 2005 a6/ 11 /2005 21 /11 Fa005 (6 A1 2 /2005

Timz [atart of day]




Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

o008
L0
0.008
a0 ta —E0 deg
0.00% % —B0 to —65 deg
—G3 to —20 deg
0.004 [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0,003 80 to 80 deg
C 002
£.001
0,005 ; : . : , :
D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
07 /09 /5005 27 08 /2005 &7 /10,3005 22 710,/ 2005 08711 /2005 21711 /2008 06,712 /2005

Timz [atart of day]




MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,012

0,010
o H—+—90 to —E0 deg
008 B0 ta —65 deg
® —B5 to —20 deg
w [F-E1-20 ta 20 deg
= 20 to 35 deq
= —— 65 to 0 deg
S 0.008 B0 to 90 deg
&

0,004

£,002 - . . , : :

Q050,000 O 00,00 I EAN [AUEATREN Q000,00 000,00 Q00,00
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005

Timz [atart of day]



Daily averaga [=se titls]

F11 winr [ppmy] far pressure 10.0 hPa
0,0005 : 5 :

FLOEIL b emeee e eeeeeeenes ............................. ............................ e ...........................

. ! . ! . | f—+—o0 ta -0 deg
DT O S A S A S L] P80 ta -85 deg
' ’ ' ’ ' ’ —65 to —20 dag
[3-E1—20 ta 20 deg
20 to 35 deq
—ES to 30 deq
&0 to 90 deg

LRI [ | ............................ : ............................ -. ............................ : ............................ - .................... .. :

I:'.'DDD“I ........................................................ é.a;. ........................................................ i ......................................................... E ........................................................ .§. ..................................... [ U P, i

. i #.ﬂ%ﬁﬁzﬁri i FaE] ﬁ;nq: e I e A

D500 (00,40 00,00 (000,50 (00, 0 0,1 A 00,0
07 /08 FE005 D2 e 2005 o7 A0,/ 2005 52 A8,/ 2005 a6/ 11 /2005 21 /11 Fa005 (6 A1 2 /2005

Timz [atart of day]




CLMO wmr [ppmy] for pressure 10.0 hPa

08012

00018
= 0.0008 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

0.0002

0,0000 - . . : : :

D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005

Timz [atart of day]



Daily averaga [=se titls]

MNZCE vimr [pprmy] far pressure 19.0 hPa

00025
0,0020
H—+—00 to —E0 deg
0.0015 4= —BC to —BS deg
—G3 to —20 deg
- [F-E1—20 to 20 deg
; 20 to 85 deg
08010 : —B5 to 80 deg
' g E0 to 90 deq
0.04005 f
e _
0,005 : : , Ly = WY,
D0z 0000 O 00,00 D000 000000 Q000,00 D000 OC; 00,00
07 /09 /5005 22,08 /2005 47 /10,/2005 52 S0,/ 2005 &/ /2005 2111 ,/2008 06 /12 /2005

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa

BEe o ey feteny oo ’

EJ:I-‘-‘H'E'H‘ ............................ i ............................ i ............................ §. ............................ B i R EECERTERTR S

+—+—8C to —80 deg

4= —BC to —BS deg
—G3 to —20 deg

[E1—-2C to 20 deg

1.5x107

20 to 35 deq

—ES to 30 deq
-4

1010 S0 to 90 deg
50107

o . - . ! , .
D008 O¢: 00,00 0L, 00 000,00 (00, 0 000100 000,010
07 /09 /5005 22 0 /2005 07 /102005 5 /10,2005 08/11 /2005 21711,/3008 06,12 /2005

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

51074
30x1074
25x107 H—+—00 to —E0 deg
e —B0 to —BS deg
—G3 to —20 deg
P— [F-£1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 deg
1.65x107
10107
NP : : : : : '
D0-o0.C0 000,00 D00, 00 000,00 Q000,00 QI000L 00 000,00
07 /09 /5005 22,08 /2005 47 /10,/2005 52 S0,/ 2005 &/ /2005 2111 ,/2008 06 /12 /2005

Timz [atart of day]



Caily averaga [eea titla]

CCL4 wmr [pprov] for pressure 19.0 hPa

20x1078
L= E bl R R EELE e T S T
RIS e [ H i R 0 frosorreeanrrennrene | -0 ta —&0 deg
: ' : ' : D | pEx—BO to —B5 deg
- —G3 to —20 deg
-El.l:l:':-l':'_u .-.---.-..-.---.-..-.---.-...E ............................ .i-..-.--- -..-.---.-..-.---.-a: ............................ .i .................................................. [E1—-20C to 20 dEg
; : : : 20 to 35 deq
: —FES to 80 deq
; E0 to 90 deg
o CE L LT LT PP n ------------------------------------------------------ .
G E AT ] EETEETELCRECL R e beoees e Bl IR I frosesnasonne e
A ES : ; : : : :
D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
07 /0 /5005 D3OG 2005 o7 A 0/2005 52 10, B005 a6/11 /2005 21741 /2005 0 /12 /2005

Timz [atart of day]




HCMH wrr [pprov] for pressure 100 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN Q00000 005, a0 Q0000 ;00,00
o7 /09 /2005 00 /06 /2005 o7 A10/2005 52 710,/ 2005 OB/11 /2005 a1 /11 /2008 06 /12 /2005

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN Q00000 005, a0 Q0000 ;00,00
o7 /09 /2005 00 /06 /2005 o7 A10/2005 52 710,/ 2005 OB/11 /2005 a1 /11 /2008 06 /12 /2005

Timz [atart of day]



F22 vinr [ppmyv] faor pressure 10.0 hPa

181074

1.6x157

142107
0 . (90 to —50 deg
= 1210 % —B0 to —65 deg
2 —B5 to —20 deg
P [F-£1—20 ta 20 deg
= 20 to 35 deq
% —— 65 to 0 deg
= BOx10" 50 to 90 deg
&

B.0x1070

4.0x1077

20x1078 : : : : : :

0000106 0 001,000 Q000,00 000,80 (200, 00 Q000,00 (05001, 0101
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005

Timz [atart of day]



Temperdature [K] for pressure 1.0 hPa

200

290

a0
0 (90 to —50 deg
~ 370 3 —B0 tn —65 de
o g
o —B5 to —20 deg
—— (E-E1-20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= 350 80 to 90 deq
&

245

230

220 : : : : : :

D0z 0000 O 00,00 D000 000000 Q000,00 D000 OC; 00,00
07 /09 /5005 27 08 /2005 &7 /10,3005 22 710,/ 2005 08711 /2005 21711 /2008 06,712 /2005

Timz [atart of day]




Tangent altitude [km] for pressure 1.0 hPa

a1

&

45

Caily averaqa [eee title]
%

&

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

D500 (00,40 00,00 (000,50 (00, 0 0,1 A 00,0
07 /08 FE005 D2 e 2005 o7 A0,/ 2005 52 A8,/ 2005 a6/ 11 /2005 21 /11 Fa005 (6 A1 2 /2005

Timz [atart of day]




HZC winr [pprmv] for pressure 1.0 hP4d

12

11

= 10 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
- [F-£1—20 ta 20 deg
Fa 20 to 35 deq

z —— 65 to 0 deg
= &0 to 90 deq

A

L 2 ]

: - . - . - .
D500 (00,40 00,00 (000,50 (00, 0 0,1 A 00,0
07 /08 FE005 D2 e 2005 o7 A0,/ 2005 52 A8,/ 2005 a6/ 11 /2005 21 /11 Fa005 (6 A1 2 /2005

Timz [atart of day]



Q3 wmr [ppmy] for pressure 1.0 hPd

4.3

4.0
¥ H—+—90 to —E0 deg
Y B0 ta —65 deg
K3 —B5 to —20 deg
m [F-E1-20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= 3.0 B0 to 90 deg
8

2.5

2.0 i : : : : .

Q050,000 O 00,00 I EAN [AUEATREN Q000,00 000,00 Q00,00
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005

Timz [atart of day]




HNOZ wrr [pprov] for pressure 1.0 hPa

0.0012 ,
i

0.0010
= 0.0008 [—+—00 ta —B0 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® 0 ao0e [3-E1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

0.0002

0,00 s : : ; : :

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
o7 /09 /2005 00 /06 /2005 o7 A10/2005 52 710,/ 2005 OB/11 /2005 a1 /11 /2008 06 /12 /2005

Timz [atart of day]



CH4 winr [ppmy] for pressure 1.0 hPd
0.6 : : :

0.4

+—+—8C to —80 deg
=3 —B0 to —B5 deg

)
»
K3 —B5 to —20 deg
T g3 [E1—-2C to 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.2

.o : : : ; : :

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
07 /09 /5005 22 0 /2005 07 /102005 5 /10,2005 08/11 /2005 21711,/3008 06,12 /2005

Timz [atart of day]




Caily overage [see title]

MNZC winr [pprmv] for pressure 1.0 hPd

014
ooi12
010
+—+—8C to —80 deg
4= —BC to —BS deg
0.008 —B5 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq
o008 —FES to 80 deq
E0 to 00 deg
0,004
X - EERETRETREPREPREPREPREPRIPR N 1 TN K. I SRR
LT “-""'-‘M
£, 000 ; : : - :
D0z 0000 O 00,00 D000 000000 Q000,00 D000 OC; 00,00
07 /09 /2005 22705 /2005 o7 A0/ 2005 22710,/ 2085 ae/ 11 /2005 2 1,/ 2005 04 /12 /2005

Timz [atart of day]




Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

0,0008
02007
0.0008
a0 ta —E0 deg
0.0005 % —B0 to —65 deg
—G3 to —20 deg
— [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0.0003 80 to 80 deg
0,0002
0.0001
0,00045 ; : . : , :
D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
07 /09 /5005 27 08 /2005 &7 /10,3005 22 710,/ 2005 08711 /2005 21711 /2008 06,712 /2005

Timz [atart of day]



Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

o014
o.012
o010
[——00 to —&0 deg
4= —BC to —BS deg
0.008 —B5 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq
CLO0E —FES to 80 deq
&0 to 90 deg
o.004
2
oW E
0,005 - , : : . }{
D080, 00 00 00,00 D00 00 Q000,00 o0, 00 O0z00.00 000,00
07 /09 /2005 22705 /2005 o7 A0/ 2005 22710,/ 2085 ae/ 11 /2005 2 1,/ 2005 04 /12 /2005

Timz [atart of day]




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
07 /08 FE005

F11 wmr [pprmyv] for pressure 1.0 hPg

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D2 e 2005

AN Q00000 005, a0

o7 A0/2005 22,/10,/2005 0E 11 2005
Timz [atart of day]

21 /11 Fa005 (6 A1 2 /2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
07 /08 FE005

CLNO vmr [pprmy] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D2 e 2005

AN Q00000 005, a0

o7 A0/2005 22,/10,/2005 0E 11 2005
Timz [atart of day]

21 /11 Fa005 (6 A1 2 /2005




NZOE vimr [pprmw] far pressure 1.0 hPa
0,5012 : 5 .

0LD07D |- -emmreeemn s borramns s R T S

| |

0.2008 H——20 to —E0 deg

4= —BC to —BS deg
—G3 to —20 deg
[E1—-2C to 20 deg

Daily averaga [=ss title

02006

20 to 35 deq
—ES to 30 deq

&0 to 90 deq

02004

0.0002

0,800 - . . , . ,

D0z 00L00 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
07 /09 /5005 22,08 /2005 47 /10,/2005 52 S0,/ 2005 &/ /2005 2111 ,/2008 06 /12 /2005

Timz [atart of day]



F12 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OO0, 00 100,05 00100, 20 (500, 010 003 001,10
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005




Caily averaga [=== title]

Q0004

00005

a.0002

0.0001

00000

COFZ wrr [ppriv] for pressure 1.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

—01,0001 . - : : , :
D500 (00,40 00,00 (000,50 (00, 0 0,1 A 00,0
07 /08 FE005 D2 e 2005 o7 A0,/ 2005 52 A8,/ 2005 a6/ 11 /2005 21 /11 Fa005 (6 A1 2 /2005

Timz [atart of day]




CCL4 wmr [pprov] for pressure 1.0 hPa

Timz [atart of day]

.0 ; . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OO0, 00 100,05 00100, 20 (500, 010 003 001,10
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005




HCM wrar [pprmv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OO0, 00 100,05 00100, 20 (500, 010 003 001,10
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005




F14 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OO0, 00 100,05 00100, 20 (500, 010 003 001,10
07 /09 FE005 00 0% 3005 07 /162005 52 /10,2005 06/11 /2005 a1 /41 /2005 06,712 /3005




F22 vmr [pprmyv] for pressure 1.0 hPd
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